



REMIT TO: Binkley & Barfield, Inc. 1710 Seamist Drive Houston, TX 77008

January 9, 2023

0180000048.000.1 Project No:

Invoice No: 55829

Project Manager: Kevin Mineo Contract Number: PO 163953

Authorization Number: N/A Client Project Number: 17001x

Total Contract Value: 1,599,614.00

Stacy Slawinski Assistant County Engineer - Projects

Fort Bend County

Engineering

301 Jackson Street, 4th Floor

Richmond, TX 77469

Project Description: FBC 2017 Mobility Project

FBC 2017 Mobility Project Project 0180000048.000.1

Professional Services from December 1, 2022 to December 31, 2022

Phase 0000 Lump Sum Fees

Task 0000 Lump Sum Fees

Fee

		Percent		Previously	Amount
Billing Phase	Fee	Complete	Earned	Invoiced	This Invoice
FM 521 South Schematic	40,944.00	100.00	40,944.00	40,944.00	0.00
Hou Transp - Labor	5,090.00	100.00	5,090.00	5,090.00	0.00
Traffic Counts (SUB)	2,000.00	100.00	2,000.00	2,000.00	0.00
DFW Traffic - Labor	11,400.00	100.00	11,400.00	11,400.00	0.00
Revise Report	3,000.00	100.00	3,000.00	3,000.00	0.00
Total Fee	62,434.00		62,434.00	62,434.00	0.00

Total Fee 0.00

> Total this Task: 0.00

Total this Phase: 0.00

Phase	0001	Project Management				
Professiona	al Personnel					
			Hours	Rate	Amount	
Principa	I (Eng. VII)					
Min	eo, Kevin		11.50	243.00	2,794.50	
Project I	Manager (Eng. V)					
Billie	ot, Matthew		5.00	194.00	970.00	
Project I	Engineer (Eng. IV)					
Jac	obson, Zachary		15.00	163.00	2,445.00	
CADD/ I	Designer					
Mah	nmood, Linda		2.25	122.00	274.50	
Clerical/	/Administrator					
Cro	es, Veronica		14.00	76.00	1,064.00	
	Totals		47.75		7,548.00	
	Total Lab	or				7,548.00

Project	0180000048.000.1	FBC 2017 Mc	bility Proje	ct			Ir	voice	55829
Billing Lim Total B Lin Re	Billings		Curren 7,548.00		Prior 1,474,408.85	1,4 1,4	To-Date .81,956.85 .96,736.41 .14,779.56		
					Total	this Phas		\$7,548.0	0
Phase	0002	FM 521 South							
Task	0002	Stakeholder Co	ordination ((Hourly)					
Billing Lim Total B Lin	Billings		O.0		Prior 15,997.00	Ŋ.	To-Date 15,997.00 15,997.00		
					Tota	al this Tas	sk:	0.0	0
					Total	this Phas	se:	0.0	0
Phase	1700	Traffic Study							
Billing	Phase		Fee	Perc Compl		Earned	Previously Invoiced		mount nvoice
	Study		3,490.00	100		3,490.00	18,490.00		0.00
Total F	ee	18	3,490.00 Total F	ee	18	3,490.00	18,490.00	0.0	0.00
			, , , , , ,		Total	this Phas	se:	0.0	
Phase	1701	Traffic Signal De	esian A My						
Task	100	- Tunic Olgilar Di	coign / (wy						
					Tota	al this Tas	sk:	0.0	0
Billing Lim			Curren	2.70	Prior		To-Date		
Total B Lin			0.0	0	24,446.59		24,446.59 24,446.59		
					Total	this Phas	se:	0.0	0
Phase	9999	Reimbursable E	xpenses						
Billing Lim			Curren		Prior		To-Date		
Total B Lin Re			0.0	0	1,768.04		1,768.04 3,000.00 1,231.96		
					Total	this Phas	se:	0.0	0
				TO	TAL DUE TH	IS INVOIC	E:	\$7,548.0	0
Billings to	Date	Current 7,548.00	1,576,0	Prior 54.48	To: 1,583,602.				

Project 0180000048.000.1 FBC 2017 Mobility Project 55829 Invoice

Billing Backup

Friday, January 13, 2023 Binkley & Barfield, Inc. Invoice 55829 Dated 1/9/2023 7:50:20 AM

Project	0180000048.00	00.1 FBC 2017 Mobil	lity Project			
Phase	0001	Project Management				
Profession	nal Personnel					
			Hours	Rate	Amount	
Princip	oal (Eng. VII)					
	103 - Mineo, Kevin	12/6/2022	2.00	243.00	486.00	
	PM Duties	40/7/0000	2.00	242.00	400.00	
	103 - Mineo, Kevin PM Duties	12/7/2022	2.00	243.00	486.00	
	103 - Mineo, Kevin	12/8/2022	1.00	243.00	243.00	
	PM Duties	TETOTEGEE	1.00	210.00	240.00	
	103 - Mineo, Kevin	12/9/2022	1.00	243.00	243.00	
	PM Duties					
	103 - Mineo, Kevin	12/12/2022	1.00	243.00	243.00	
	PM duties					
	103 - Mineo, Kevin	12/13/2022	1.50	243.00	364.50	
	PM duties	12/14/2022	2.00	243.00	486.00	
	103 - Mineo, Kevin PM duties	12/14/2022	2.00	243.00	486.00	
	103 - Mineo, Kevin	12/15/2022	1.00	243.00	243.00	
	PM duties	12/10/2022	1.00	210.00	240.00	
Projec	t Manager (Eng. V)					
	104 - Billiot, Matthew	12/13/2022	3.50	194.00	679.00	
	Reviewing Old Needville	Plans				
	104 - Billiot, Matthew	12/14/2022	.50	194.00	97.00	
	Reviewing Old Needville					
	104 - Billiot, Matthew	12/29/2022	1.00	194.00	194.00	
	17108 comment review					
Projec	t Engineer (Eng. IV)	10/7/0000	1.00	162.00	162.00	
	106 - Jacobson, Zachary	12/7/2022	1.00	163.00	163.00	
	FBC tasks					
	106 - Jacobson,	12/9/2022	2.00	163.00	326.00	
	Zachary					
	FBC tasks					
	106 - Jacobson,	12/16/2022	1.00	163.00	163.00	
	Zachary EBC tacks					
	FBC tasks 106 - Jacobson,	12/21/2022	1.00	163.00	163.00	
	Zachary	12/2 1/2022	1.00	105.00	103.00	
	FBC tasks					
	106 - Jacobson,	12/22/2022	2.00	163.00	326.00	
	Zachary					
	FBC tasks	790 981 3 801 100			122.22	
	106 - Jacobson,	12/27/2022	3.00	163.00	489.00	
	Zachary FBC tasks					
	106 - Jacobson,	12/28/2022	2.00	163.00	326.00	
	Zachary					
	FBC tasks					

t	0180000048.000.1	FBC 2017 Mobility P	roject		Invoi	ce 55829
	106 - Jacobson,	12/29/2022	3.00	163.00	489.00	
	Zachary FBC tasks					
ΔDD/	/ Designer					
ADDI	108 - Mahmood, Linda	12/15/2022	1.00	122.00	122.00	
	Working on the corresponder- Filling out all the emails intra- All emails are transfer. -Work done & saved.	ence for Centerpoint elec	tric.	122.00	,22.00	
	108 - Mahmood, Linda	12/16/2022	1.25	122.00	152.50	
	Worked on updating the ut	ility status spreadsh	eets for 4 pro	jects and		
	add them to the comb		550	5		
	-13106 Tenth Street.					
	-17303 SH99 SB Cinco	Ranch to Westheim	ner.			
	-17304 SH99 SB Fry to					
	-21109 Church Street.	The state of the s				
	**Worked saved & Sh					
	is the transfer of the second					
lerica	l/Administrator					
	117 - Croes, Veronica	12/1/2022	3.00	76.00	228.00	
	SH 99 Sg 1 Update on ROW	I to Consolidated				
	Church St Received telecom	info from CenterPoint fo	r who is attached	i		
	-Reached out to Comcast at	fter finding out they are o	overhead			
	-Check with CenterPoint wh	o is gas contact				
	SH 99 Seg 2, Atmos respon	ses to PM				
	-send plans/dgn files to PS	Lightwave				
	117 - Croes, Veronica	12/2/2022	2.00	76.00	152.00	
	Received Comcast as-builts		2.00	70.00	132.00	
	-Updated status report spre	adsheet				
	SH 99 seg 1 and 2 update u	utility status spreadsheets	3 /4			
	117 - Croes, Veronica	12/6/2022	.25	76.00	19.00	
	Received updates from CNP					
	117 - Croes, Veronica	12/6/2022	.75	76.00	57.00	
	reviewed photo received an attached to pole	d past images on NE cor	ner Benton/Fm 76	52 for riser		
	-Asked AT&T if this belong	to them				
	117 - Croes, Veronica	12/8/2022	.25	76.00	19.00	
	Follow up with AT&T on Bei	nton riser				
	117 - Croes, Veronica	12/8/2022	.50	76.00	38.00	
	Respond to PSL on SH99					

Check for updates needed

0180000048.000.1 FBC 2017 Mobility Pro	ject		Ir	nvoice	55829
117 - Croes, Veronica 12/14/2022	.75	76.00	57.00		
updates/response to PMZ for sh99 segment-1					
-reviewed row and survey files recieved					
117 - Croes, Veronica 12/14/2022	.25	76.00	19.00		
Completion notice received from AT&T on Benton/Fm7 engineer to confirm			ng promoter		
117 - Croes, Veronica 12/16/2022	2.75	76.00	209.00		
Church Street- send update CNPE and CNP Gas to PM					
-reach out to CNP Gas new contact					
SH99-2 Send update on Atmos/Dow to PM					
-Follow up wtih consolidated on design status and sub-	mitting for perm	iit			
-Sent Crown Castle CNPE Design					
SH99-1 sent ROW/Survey files to Consolidated					
-Check on conflict with Kinder Morgan exhibit					
-follow up with Energy transfer's review for LONO					
10th street-update tracking spreadsheet					
117 - Croes, Veronica 12/19/2022 Sh99-1 Sent Kinder Morgan drainage exhibit with no co	2.00 onflicts	76.00	152.00		
-fyi to PM					
SH99-2 Cosolidated overlay received, reviewed					
-sent requested plans, row update to Consolidated					
-checked on ROW status					
-Dow asked for exhibit updated to 95%, requested fro	m PM				
117 - Croes, Veronica 12/20/2022 SH99-1 CHeck with Kinder Morgan what is needed	1.00	76.00	76.00		
117 - Croes, Veronica 12/27/2022 Review 4 projects for updates needed	.50	76.00	38.00		
Totals	47.75		7,548.00		
Total Labor				7,548.00	
		Total this	Phase:	\$7,548.00	
		Total this I	Project:	\$7,548.00	
		Total this	Report	\$7,548.00	

Project